
 

  

 

 
 

 

 

cg';"rL 26 
lgod 39sf] pklgod -1_sf] v)* -

km_;|u ;DalGwt_ 

cf=j= 2072.073 



-1348850.00 190000.00 -1158850.00 

bflvnf ug{ af|sL s/s [̂L /sd -12531.00 -19783.52 -32314.52   

bflvnf ug{ af|sL ;fdflhs ;'/Iff s/ -6611.85 -1608.15 -8220.00   

bflvnf ug{ af|sL ;fjlws aLdfsf] /sd -14037.00 14037.00 0.00   

bflvnf ug{ af|sL z'enIdL kmfO{gfG;sf] /sd -55675.00 -77535.00 -133210.00   

bflvnf ug{ af+sL w/f}^L -125400.00 102900.00 -22500.00   

;fgf] gubL sf]if :yfkgf 10000.00   10000.00   

bflvnf ug{ af|sL dd{tsf]ifsf] /sd -253141.00 -43145.00 -296286.00   

bflvnf ug{ af|sL sd{Rf/L lxtsf]ifsf] /sd -155600.00 155600.00 0.00   

bflvnf ug{ af|sL lgdf{)f Joj;foL sf]ifsf] /sd -47671.20   -47671.20   

bflvnf ug{ af|sL c:yfoL sd{rf/L sNof)fsf/Lsf]ifsf] /sd -20800.00 20800.00 0.00   

v'b gub vr{ 371576414.51 40337072.95 411913487.46   

cfDbfgL / sf]ifsf] cj:yf 

lgsfzf af|sL df}Hbft 

ljj/)f /sd vftf ljj/)f /sd 

1= ut jif{sf] df}Hbft c=Nof= 16740056.33 1= uô4ô1     3864200.00 

2= s/, z'Ns tyf b:t'/ k\fKt 49847163.95 2= uô4ô2 
  

25405810.00 

3= hg;xeflutf 19128137.00 3= uô4ô3  
  

5607876.07 

4= g]kfn ;/sf/sf] cg'bfgM   4= uô4ô4  
  

2017310.84 

s_ g=kf=cg'bfg rfn' 10626000.00 5= uô4ô5 
  

3389168.19 

v_ g=kf= cg'bfg k"|hLut 26502000.00 6= uô4ô6 
  

0.00 

u_ :yf=lj=z'Ns k"|hLut 17186000.00 7= uô2ô1 
  

553582.03 

#_ ;fdflhs ;'/Iff eQf 62201520.00 8= uô2ô2 
  

939471.00 

<_ PnhLl;l*kL rfn' 7987300.00 9= cfOo"l*kL, r=lx=g+= 2998 
 

19697987.94 

r_ hu]*f sf]if 15618000.00 10= /fhZj gub df}Hbft 
 

2629922.59 

%_ zflGt ;ldltsf] sfo{qmdsf nflu 

k\fKt 
36500.00   

  
  

5= ;x/L ljsf; tyf ejg lgdf{)f ljefuaf^ 

k\fKt 
339500.00   

  
  

6= dfnkf]t /lhi^̀]zg z'Ns k\fKt  13292023.84   
  

  

7= ef/tLo b"tfjf;af^ k\fKt  822428.00   

 

 
  

8= PsLs[t ;x/L ljsf; cfof]hgf  124155000.00   
  

  

9= gu/ ljsf; sf]if cg'bfg 1439958.00   
  

  

10 gu/ ljsf; sf]if cGo of]hgf C)f 719978.00   
  

  

11= gu/ ljsf; sf]ifaf^ vfg]kfgL cfof]hgf 

C)f 
99326251.00   

  
  

12= ;*s af]*{ g]kfnaf^ k\fKt 3000000.00   
  

  

13= w/fg vfg]kfgL af]*{af^ ;fk^L k\fKt 7000000.00   
  

  

14= Knfg g]kfnaf^ lgsf;f k\fKt 51000.00   
  

  

o; dlxgf ;Ddsf] hDdf lgsfzf 476018816.12   
  

  

o; dlxgf ;Ddsf] hDdf gub vr{ 411913487.46         

o; dlxgf ;Ddsf] af|sL df}Hbft 64105328.66 hDdfM 64105328.66 

 


